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[3] [A]

{1 -1/ PART -1
91« {9 9 fArneme / CHILD DEVELOPMENT & PEDAGOGY

31 : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

g e d R &R\ % g

(2) aqEae-fagg qEERl & TWEN &
foT = SaER I

(3) ST H GEET GEE H -
& qrEAfTd B

1. ‘Zﬁ S & a9 SR & gAES 1. Positive facilitation of present learning
w9 qJarem S, 3aTe F A W through past learning, for example
T Gl & Nl dfsear @ FRE addition helps multiplication. This type
(W) HCMT 3 TR & AT of transfer of learning is called :
RIFRRYT HEA ¢ -

(1) FHeEE (2) STHH (1) Vertical (2) Sequential
(3) wIEE 4) famedia (3) Lateral (4) Bilateral

2. fooe@ @SS @R St @ 2. The democratic organisation of school
yeifad FRar B, AW H T BB influence learning, this factor of
Trefeed ® - learning is related to :

(D) fafyr fosmer wer @ (1) Methodological aspect
(2) qEINTE 99 q (2) Social aspect
(3) FdH 9w 9 (3) Physiological aspect
(4) ANAsE v & (4) Psychological aspect
3. fy=ifeReq § @ d-dt Ao foenfat & 3. Which of the following is not an

appropriate strategy for improving

students problem solving ?
ey
2

Functional fixedness of students

Give extensive opportunities to

solve real-world problems

Involve children's

3)

parents in

problem solving

@) foenfdl @ guen quEE A g (4) Monitor students effective and
AT S ARl @ AR ineffective problem solving
(EIE?[%FT) HTT strategies

Level-3/4309

P.T.O.



[A]

4. e gl & T R 1 gEE 96
@l & Fih 98 39 a1 B TR Tl HX
T % aEE ofR IE% WRaR & A
FT G| T8 &I FaeT @

(1) %ad AR AT H

(2) @ax el AT &

(3) IR SR T A TR A SR
(4) T q TR SR 7 & &I SRR H

5. AEghs [@HE (TOM) § 9@ & o
i & & dH-o T STe8l JTha
AT B 7

(1) fafy= faftal @1 S feenfR &
M & T B

(2) TH W AFDHIHT TUET H ST
HET

(3) HFEwTg fafi=Tanell @i SArgefres
% HROT A

(4) MHAH F LW B [T R B
TR § S

6. Feaw & fHara ¥ fF9 @ W Sfas
o @ ANl U STHIRG \el e
ST X MRS Bir & °

(1) E-S=eH &R

2) =T &R

(3) U9 FEET &R

(4) TR SfdaamRT® X

Level-3/4309

[4]

4. Rohan is reading a latest Bahubali comic
book because he cannot wait to see what
happens to Bahubali and his family. This

is best example of :

(1) Only intrinsic motivation

(2) Only extrinsic motivation

(3) Both intrinsic and extrinsic motivation

(4) Neither intrinsic nor extrinsic motivation

5. Which of the following is a good
assessment strategy to avoid cultural

bias ?

(1) Assess students using a variety of

methods

(2) Use a single, good standardized

test

(3) Assume that ethnic differences are

due to heredity

4) Avoid

assessment purposes

using  portfolio  for

6. In Kohlberg's theory, at which level

moral development is internalized and

not based on external standards ?
(1) Pre conventional level

(2) Conventional level

(3) Post conventional level

(4) Mutual interpersonal level



7.

% b B SRR, SHH s (et
Bl el UT R © X T a%
F T fFaw gWal ads @ s
HOM Td TS H GHEN HOM 39
ff yenfad Har B1 59 SaeRw A faw
T g B §

(1) SATgEfmEp

(2) TEERE B}

(3) IRPE SR 9% & oAl &}

(4) Faaar (=) g/

Frfatad & & Si9-a Qom foenfeE &
Fivs  (AieoE) foew dee @

faepr & Hatow R § Gt St § 7

(1) T Sgeeers (S wee &

() el § wewyel el et
Pl HERET T BT B HEH

(3) e H W TR B D
HH H A REA I ST qeF
g d Y W JAl B gEER
T B

(4) foeiEl & 3@ e F BT
HET 6 A TR Al A
TMaH JaFH= &7 A B GEHAA
3TAT GUSH FHITT

e & oER, Sfeq  @d e |
fraiR-frsifeal iR & & @9+
ST H I AF F © 7

(1) TR (JEaH) d&6e

(2) TEEM Iuaie

(3) TEEN foer

(4) TEEM ArEE-FEY (HREIR)

Level-3/4309

[5]

9. According

[A]

7. A child's diet affect how tall the child
grows and even how effectively the
child can think and solve problems. In
this example development is primarily

influenced by :

(1) Heredity
(2) Environment
(3) Early-later experience

(4) Continuity

8. Which teaching strategy is most likely

to foster the development of critical

thinking skill of students ?

(1) Giving a multiple choice test

(2) Assignment for students to create
timelines of important historical
dates

(3) Giving worksheets to students that
require them to recall the facts

presented in their text books

(4) Presenting students with statements
such as "Lal Bahadur Shastri was
our greatest Prime Minister" to

defend or refute

to Erikson, in complex
societies teenagers experience which of
the following state ?

(1) Identity crisis

(2) Identity achievement

(3) Identity moratorium

(4) Identity foreclosure
P.T.O.



[A]

10.

11.

12.

13.

fpeY. foenfeiat & & #d #d T

AANE & U gaiRd IugE &

T R

(1) el @ g & & fag Fe

(2) T el Sgd & e @
QRIS 1 0T HIamT

(3) NIl I FHHA GishASA AT
T &

(4) Th FH TA GHA AT IS &l
e /FETer @

J 9% IA e F AW S & T

3fte dieorar B ® ¢

(1) 20/70 & 20/200

(2) A9 FaR® a6l % e 20/20 gite

(3) A9 FaR® a6l & 9y 6/6 gfte

(4) 20/10 & 20/30

st (Rr)  FFEd TR

Ao Rrad foemedt sremus & ueet &R

frast & FemEar | T 9 H M

FH % fog dieied 8§, a8 § ¢

(1) = STferm

(2) TFERE TS AR

(3) qHEN SneRd S

(4) TS TR SIfeem

q&F b T, 99 Je fhEl FE W
DiEd e @ U, AT fhAT Bl
g, g el B Ware e & 8
WM For & @@ fEww & ™
SIS e @ ST 8, Hahd ¢
(1) FEEM AT FAlHha fGhR &

(2) wE SfetFFEd (Fes ar) &
(3) AN HaEdl &
4) dfq a= &

Level-3/4309

[6]

10.

11.

12.

13.

Most suitable strategy for a teacher,
when he/she is working with adolescent
students is to :

ey
2

Ask students to make comparisons
Propose a problem and invite
students to form hypothesis

Give children

3)

experience  in
ordering operations

(4) Construct an inclined plane or a hill

Children considered as low vision who

have a visual acuity between :

(1) 20/70 to 20/200

(2) 20/20 vision with corrective lenses

(3) 6/6 vision with corrective lenses

(4) 20/10to 20/30

Learner centered instructional strategy

in which students are encouraged to

construct their understanding with the

assistance of teacher through questions

and directions is :

(1) Discovery learning

(2) Guided discovery learning

(3) Problem based learning

(4) Project based learning

Child's symptoms when, he/she can not

stay focused on a task, act impulsively,

ignoring social rules and lashing out

with hostility when frustrated, is

indication of :

(1) Attention — deficit hyperactivity
disorder

(2) Slow learner

(3) Mentally retardation

(4) Amnesia



15.

16.

17.

TPR wEtEd § R JeR A

g ity e 8 gt #1
(1) R (2) I
(3) Tt 4) TUgq

EIRUEEE R B NES A S oA B
YR, fEmft & wRER, @ @R
foene onfe SH% faem @ gefad a<d
g R ¥ T @A ¢

(1) & o= &
(2) g T |
(3) g&d = 4
4) & T |

IR & OTER, & A B T8
d S S o @ o 9ga dfed al
W Ao o ofie g el @
T § BT 699 &, Hean § ¢

(1) EhHIeET

(2) A= AT~
(3) Fefim wewfa
(4) e faepE &=

s & omER, Frfifed & & @9-@
fwar & olwRe  fhare®
e § e 7@ e ?

(1) IRFIATHD- R THATES bl
(2) STESAREl T

(3) ®I Tl

(4) SFI el

Level-3/4309

15.

16.

17.

[A]

is to social cognitive theory as

Vygotsky is to social constructivist

theory.

(1) Skinner (2) Seigler

(3) Piaget (4) Bandura

According to Bronfenbrenner's

Ecological Theory, student's family,

peers and school etc. influence his/her

development and they belong to the :
(1) Chrono system

(2) Micro system

(3) Macro system

(4) Exo system

According to Vygotsky, a range of task
too difficult for the child to do alone but
possible with the help of adults and

more skilled peers is called :
(1) Scaffolding

(2) Inter subjectivity

(3) Guided participation

(4) Zone of proximal development

According to Piaget, which of the
following characteristics is not related

to formal operational stage of children ?
(1) Hypothetico-deductive reasoning
(2) Idealistic reasoning

(3) Spatial reasoning

(4) Abstract reasoning

P.T.O.



[A]

18.

19.

20.

Ted % JfE qhET S8 ofed iR ofed
§ ofte gfe @ a2 | S Iuw
Tes, gol, g [9ee ofiR fase &
Ie oafys I (F9) 21 SEe M B
I HH I iR @ Pl T < |
A H GO ©

(1) TeTscgfer

(2) e

(3) feaaferaan

(4) feamiE

frfafag & § fF-a1 9 el &

I FEeE W faeT s § gaies

g8 2 ?

(1) o9 e ¥ ofus faw @&
HaifeF HEEq § 7

(2) 99 3199 Siad & fhd TR Gfed
HT T & ?

(3) ST TB® VT U F [T FT B
T & 7

(4) oMY fFH TR Jea¥ TS g
I Hhd & ?

gl bl @ e e § "

HIF-TT HHT SUYHT 78] &

(1) fafsme e

(2) STETIEE fAreror

(3) @R (TiEs)

(4) 9T Fe H Hads

Level-3/4309
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18.

19.

20.

Parul's intelligence test indicate that she
1s average to above average intelligent.
However her grades in reading,
spellings, social sciences and science are
very low. Her maths grades are quite
high & her writing skills are adequate.

Parul most likely has :

(1) Dyscalculia

(2) Dysgraphia

(3) Dyslexia

(4) Dysphasis

Which of the following question is most

likely to get students to reflect on their
purpose ?

€]

What is most important to you in
your life ?

2)

How can you organise your life ?

(3) What can you do to get good

grades ?

“4)

How can you set better short term
goal ?

Which of the following programme is

not suitable for gifted children ?
ey
2
3)
“)

Special classes
Remedial Teaching
Acceleration

Enrichment in regular classroom

setting



21.

22,

23.

R o eIl aIfiE FeR STER

oMl R ST TR HE A B

T 21 FPARE B T SR HErE

freY e @

(1) AR Jarer

(2) SrEAA-TAIRG =Y (SieaRa
FHrfeda =)

3) d=wm  few R (=R
SR feHeiiEy)

@) it

frfofaa & & dm-a1 Fo auash 9= @

e SUGHRT &9 & IR e © ?

(1) Oy  STaEeRd  a@ R B
fafdre foemerat & fawem

(2) [y STEEEN AW dR B
foemeral # fafare e & fRrew 3

(3) ORIy SMasTewdr ar SRl Hl |
e H oTfepay @Ry frem &

(4) A9 ETHAT  aW TED B
T HE H QR A R e

" @ T @ SR H felaieg § @

H-9T FHIT Fel & 7

(1) gt @ ol sftrm &)
giRafda & S 2

(2) G W9 @ W | 2

(3) | AIRE FEOAl &N S B
g

@ "t @ Red 9Eteta
Rt oref fore @t B

Level-3/4309
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21.

22,

23.

[A]

Young people mainly girls engage in
strict dieting and excessive exercise.
This eating disorder in adolescence is

known as :
(1) Anorexia Nervosa

(2) Obsessive Compulsive Neurosis

(3) Neuro-developmental Disorder

(4) Bulimia Nervosa

Which of the following statement most
appropriately defines the term inclusion ?
(1) Educating children with

needs in special school

special

(2) Educating children with special

needs in special classroom of
school

(3) Educating children with special
needs most of the time in regular
class

(4) Educating children with special

needs full time in the regular

classroom

Which of the following statement is
correct about the nature of emotions ?
(1) Emotional

expres sions are

modified by learning.
2

Emotions are permanent state of

the organism.

(3) Emotions are aroused by internal
stimuli.
(4) Certain facial expressions of

emotions have different meanings.

P.T.O.



[A]

24.

25.

26.

27.

o foEmeft  etfem H g
et 34 HHEM & SR SURH @
SER &g & d T8 orm A
frfafeg & @ @9-91 2 ?

(1) EeieE et (2) ot A
(3) TaE A 4) TeT A

59 Y Sl Ya @ S gEd W
g9 8IS 3, FHeAM o

(1) 79T &1 BT

(2) T 1 @A (FH)

(3) T & GRS &9

(4) T B TGHH (HRWHH)

IfeFm @ ge orae Red w9 offue
et T gEl @ ORA iR Sited &R
&, el ? ¢

(1) = (&) frerer
(2) AR AP
(3) TEdr e
(4) =AY A

frfefag & & H9-91 HF s GH
3 foal & SR H TR ?

(1) fm s Mied R @ ergaia
qrEq & I B |

(2) 95 & % foEE § 99H 2
gl

3) fwm oTgERE ol amEReT &
SR (afRem) B

4) fem T & Rerd | oad
T 2|

Level-3/4309

[10]

24,

25.

26.

27.

Which of the following type of learning
style is used when students approach
the learning material in a way that helps
them understand the meaning of the
materials ?

(1) Practical style (2) Impulsive style
(3) Surface style (4) Deep style

Speaking or writing in such a way as to
have an impact on others is known as the :
(1) Grammar of language

(2) Phonemes of language

(3) Pragmatics of language

(4) Morphemes of language

Learning situation in which multiple
partners stimulate and encourage one
another is called :

(1) Team teaching
(2) Programmed instruction
(3) Cooperative learning

(4) Discovery learning

Which of the following statement is
incorrect about the principles of child
development ?

ey

Development follows a definite and
predictable pattern.

All individuals are similar in their

2)

development.

3)

Development is  product  of
hereditary and environment.

works the

“)

Development
principle of integration.

on



28.

29.

30.

TER & ogER, T B g5 (FFEE),
| SRSt iR SR A JeEEe AR
SUGHT TR HTT & AT FEART ©

(1) -t gfs

(2) few-Tioaas e
(stfeeh-predfes gfs)

(3) siadarR g

(4) TR g

e & ogar, [l & s
qaie URRElEl & W fo i
HUT & Thl B GedlbT B H QG
R

(1) 9 faar

(2) gifsifea Ry (HepAeiE STHM)
(3) I AMRET

4) =

frefofag & @ fpw Aosntye 9
BT RAGESS M B 1 S AR 00 A
“FreiRmaeer 98 & (ovafy) © Ford

s oiX aReE &7 @ STemeeen 9
e # X 9 27 ?

(1) To o TR
(2) 3o Ho &dl®
(3) 9o o e
(4) Tdo ARTEA

[11]

28.

29.

30.

[A]

According to Gardner, the ability to
detect and respond appropriately to the
moods, temperaments, motivations and

intentions of others, is known as :
(1) Linguistic intelligence

(2) Bodily — kinesthetic intelligence

(3) Interpersonal intelligence

(4) Intrapersonal intelligence

According to Piaget, adolescents ability
to evaluate the logic of verbal statement
real-world

without  referring to

circumstances is :

(1) Propositional thought

(2) Transitive inference

(3) Cognitive mapping

(4) Decentration

Which of the following psychologist
defined adolescence as "Adolescence is
that span of years during which boys
and girls move from childhood to

adulthood,
socially and physically" ?

mentally, emotionally,

(1) A.T.Jersild
(2) E. B. Hurlock
(3) L P.Davis
(4) H. Sorenson

Level-3/4309

P.T.O.
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HRT— 1l / PART - Il
A1 (R=T @ 3fISH) / LANGUAGES (HINDI & ENGLISH)
[ &</ HINDI |
3% : Fr=ifr&a goal & Gav 37 & [ qae T ey i

31

32.

33.

34.

B I e A A SR I O
FIfoTT :

(1) wgr

(2) g

(3) TAGAD

(4) s

diy-fese wd - @ gfe @

ST ehed AT

(1) g + @ = 9

(2) T + T = T

(3) UR + FHd = IR

(4) T + AR = TEIK

fopq faeheq # & IUEET B A & g
g7

(1) IR

(2) =y

(3) e

(4) ATTArH

e faheq H ‘oUEM TgEY H ST
TET g B ?

(1) SRt

(2) ST

(3) V=B

(4) TEBRI

Level-3/4309

35. ‘TS H Afeaw aEe Ui e
qE0E W@ - 39 9 ° ggE Qe
H AT A BIRTT -
(1) FiRed degmEmEs Lo
(2) e demErEs L
(3) iR gRHERS Lo
4) Ut Sigsh degmErEm Qe
36. fhe o= & ‘ofa’ IR H TN oVl & ?
(1) s
(2) @™
(3) StE=d
(4) o

37. @Al H I W 7T faehed YT

(1) e MW 9 ThHaad
TP Bl & |
(2) AfFdaTH TSE S &l 2|

3) 3=, [N, T, TG AR A
Aares Gsl § |

(4) AfFTEE® TG AGAED Gl B
Srfcraraes danell § WuraRer A o
el 2|



38.

39.

40.

41,

42,

P s # ‘AgarEE Fq T@d H
TN &g © 7
(1) o
(3) UBdrEr

(2) fesaE
(4) TSR

wfy % gfte & o e © -
(1) Y + HHiEr = IS
@) foEg + 9 = e

(3) 9 + HE = Y

(4) M + AT = STHTT

T HE-H AEEEEs s H
faSroraTe® S § 787 g § ?

(1) Thea
(3) ST

(2) TIFETH
(4) M9

“A qe9 afed Rl ar dsd &7 -
g qeg § faQmr @ HE-d orawen @

ST g § 7
(1) ©=Eer  (2) JamEe
(3) TWEET  (4) IAEET

BT & oY H oG HYT g
(1) To=pd & A ded ‘B e o1

WA e oqd BRA | TR
T 2

(2) I g # F FH &, ar e |
R’ o fTREe’ U HE WA
I o § 98 ‘e & OB § |

[13]

43.

44,

45.

[A]
3) % &4 % s o el O
= P STETHAT ol TS & I%
‘gt e R Fed © |
4) o, TN @GN TEE T
Tt fRaTe Bt ¥ |

it gftc § g I8 &l =G BT
(1) 3=
(2) RS
(3) offess
(4) et

Tir-foare @ sfe @ o FA W

gifeg

(1) %I, i, TR ST 08 ¢ |

2) ‘AT foprReE o B A9 S
gl

(3) G, HaW T§ favErs |l
gt # fofr @t gfte & fer 2 B

4) B, ¥, A9 oy =
AT STE & arad UE 2 |

et & ‘oifees’ avt -1 & ?
1 3 2) @

3 X 4) @

Level-3/4309

P.T.O.
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[14]

[ 3135ft / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

Which one of the following words
underlined in the sentences given as
options has been used as a verb ?

(1) The stage performances are called
Raas Leela.

(2) The performers enacted Raas Leela

on the stage.

(3) Each actor performed in a circular

space on the stage in Raas Leela.

(4) The performing artist moved in a

circular space on the stage in Raas
Leela.

Select the correct option from the
following that correctly transforms the
following sentence from Direct speech
to Indirect speech :

He said, 'Congratulations !'

(1) He congratulated me.

(2) He said to me congratulations.
(3) He exclaimed congratulations.

(4) He is saying congratulations.

Fill in the blank with the correct

preposition :

Do you usually go out ........ Saturday
evenings ?

(1) in (2) at

(3) on (4) within

Level-3/4309

49.

50.

51.

52.

Choose the correct verb form in the
following sentence against the blank
space so as to complete the sentence :

"My father .......... for  Delhi
yesterday."

(1) leave (2) will leave

(3) left (4) will be leaving

Choose the correct option to fill in the
blank space in the sentence which
expresses the correct notion hinted in
the bracket against the blank space :

"You ...... (command) apologise or
face the consequences."

(I) must (2) shall

(3) may (4) could

Pick out the correct option to indicate
the use of adjective in the following
sentence :

"A Cool breeze blew from the sea."
(1) breeze (2) sea
(3) cool (4) blew

Identify the underlined word in the
given sentence.

I see him passing my house every day.
(1) Gerund

(2) Present Participle

(3) Infinitive

(4) Object



53.

54.

55.

56.

57.

Identify the correct meaning of the
underlined idiom in the following
sentence from the options given below :

"Climbing Mt. Everest is not a child's
play for anyone."

(1) very easy to do

(2) very difficult to do

(3) pleasant to do

(4) boring to do

Which one of the following sentences in
the options given below illustrates the
use of Intransitive verb ?

(1) Fire burns.

(2) The principal hoisted the flag on
Independence Day.

(3) She is reading the newspaper.

(4) Our team won the match.

Choose the correct set of articles from
the given options in the following
sentence against the blank space :

"The teacher wrote ......... outline of a
storyon ......... blackboard."

(1) a,a (2) an, the

(3) the,a (4) a,the

Which one of the following words is
not anoun ?

(1) advice (2) rice

(3) device (4) nice

Choose the word which is spelt
correctly :

(1) Beegning (2) Biginning

(3) Beginning (4) Begining

[15]

58.

59.

60.

[A]

"Reading improves your knowledge."

Identify the gerund in the above

sentence from the options given below :
(1)
2)
3)
“)

knowledge

improves

reading

your

Which of the options given below is the

correct passive form of the following

sentence ?

"The Bhagvad Gita presents a balanced
philosophy of life."

(1) A balanced philosophy of life is
presented by the Bhagvad Gita.

(2) A balanced philosophy of life has
been presented by the Bhagvad
Gita.

(3) The Bhagvad Gita has presented a
balanced philosophy of life.

(4) A balanced philosophy of life was
presented by the Bhagvad Gita.
Identify the compound word from the
options given below :

(1) Development
(2) Newspaper
(3) Powerful

(4) Childhood

Level-3/4309

P.T.O.



[A]

[16]

HET -1/ PART -1l
Y AT/ GENERAL STUDIES

[ A QRTAT, dliche SARTEHT Rl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3% : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

3 e H olEd oy 16 T B AR
ITbl MG BN YA 4 0 5 T &, @
9 BT T & oy fhal & ?
(1) 8 a8

() 9

(3) 12 T4

4) 16 T8

fret gl ¥ 60% foEmelt ol # qun
70% T Il gu, A 209% ferd
= fowar H W B T 2500

feemefl a1 fawal & S @ 8, @ g
qhenfefl i Hen f § 2

(1) 3000
(2) 3500
(3) 4000
(4) 5000
A, B TR AEHCID,E A
TIEEAIRCS A 5 &R C, B

geT 2, @ 9 # ¥ d9-A &
ETF W H FFE ?

(1) A, C & 921 8|
(2) C,D & 9T 8|
(3) D,C & 9T 8|
(4) E,B & 1 8|

3w d

Level-3/4309

61.

62.

63.

The average age of three boys is 16 years
and the ratio of their ages is 4 : 5 : 7, find
out the age of smallest boy.

(1) 8 years

(2) 9 years

(3) 12 years

(4) 16 years

In an examination 60% of students passed
in English and 70% students passed in
Maths, 20% students failed in both subjects,

2500 students passed in both subjects. Find
out total number of students :

(1) 3000
(2) 3500
(3) 4000
(4) 5000
A is elder to B while C and D are elder
to E. E lies between A and C and C is

elder to B, then which of the following
statements is necessarily true ?

(I) AiseldertoC
(2) CiseldertoD
(3) Diselderto C
(4) EiseldertoB



64.

65.

66.

67.

68.

T g & el 9qe @l 21 A @R B
g d X ifhd B A D O AR Y
I Z 9T i 5 ek 9X S B ?

(1) ad |
2) IW
(3) M
@) 9®
BaAXCH I ARBICH T D E

D
A% fr E & @ Fefofag & @
BY-HT H7GT HIT & 7

() EF GBI

(2) B &I f@1 E 81

(3) D ® U E &1

4 D& T A 3|

ISt ofmren # fRR o & &g
gfafers aTaRafad wd & 7

(1) 8 ) 9

3) 12 @ 11

= Aot § 7T Ug T B
1CV, 5FU, 9IT, 15LS, 170R

(1) 5FU (2) 9IT
(3) 15LS 4) 170R

e ™ el & § 97 aifed

(1 171
(3) 161

2) 131
4) 181

Level-3/4309

[17]

64.

65.

66.

67.

68.

[A]

Bottom surface of a cube is empty. X is
marked between A and B. Y marked on
the left of A. Then Z marked on which

surface of cube ?
ey
2)
3)
“4)

bottom side

up side

in front side

in back side

A is the brother of B and C. D is the

mother of C. E is the father of A. Then
which statement is false ?

(1) Bissonof E.

(2) E is father of B.

(3) Eis husband of D.

(4) AissonofD.

In English alphabet, how many letters
are unchanged in mirror image ?

(1) 8 2) 9

3) 12 4) 11

Find the wrong term in the following
series :

1CV, 5FU, 91T, 15LS, 170R
(1) 5FU (2) 9IT
(3) 15LS 4) 170R

Find the Odd one out from given

options :
(1) 171 (2) 131
(3) 16l (4) 181

P.T.O.



[A]

69.

70.

71.

72.

73.

frfoiaa o3t & sy § Ru oA
% ITgEr fe

i.  Critical ii. Criterion
iii. Crisis
(1)
(2)
3)
“)

A% SfSH auiHren @ Al wH A o
G 9, @ s X § 199 R @
St SR 8dT ST HIF-T BT 7

(H T (2) P

3) Q 4) R
& 'PROPERTY' & 3o & TA fopam

W §, R 721 & 987 I & o ¥
e B o d ol avtaar & o e

iv. Crisp
iii, iv, i, i
i, iii, iv, ii
iii, iv, 1, ii

iv, iii, 1, ii

Co g o e B -

(1) 0 2) 1

(3) 4 4) 3

q AR A T B IAHA IR B
IFE-AMY @S 91 AR” A B OWSE A
F I I TS W B, A T B H
Ta feg Rem & B °

(1) for (2) JX

3) © (4) =M

Th ORI a&galt & Sifhd g W
15% @ 9T 3@ &, 98 MU AW W
ST qed | e A ged Sfehd

fr I8 19% @A & 7
(1) 34% (2) 40%
(3) 25% 4) 30%

Level-3/4309

[18]

69.

70.

71.

72.

73.

Write the following words in the order
given in the dictionary :

1. Critical ii. Criterion
iii.  Crisis iv. Crisp
(1) 1ii,1iv, 1,1

() i, ii, iv, ii
3)

4) 1v,iii, 1, il

1, 1v, 1, 11

If English alphabets are written in
opposite order, then which is the 8th
letter of the 19th letter from left side ?
I T 2) P

3 Q 4 R

In the word 'PROPERTY' how many
such pairs of letter exist, which has the
same number of letters between them
here as what they have between them in
their order in English Alphabet ?

(1) 0 2) 1
(3) 4 “4) 3

Two persons A and B stand in front of
each other in morning. If A's shadow's
lies in the left side of 'A’, then in which
direction B's facing ?

(1) South (2) North

(3) East (4) West

A businessman gives 15% discount on
the list price of his items. How much
price he should mark on his items to the
cost price to get 19% profit ?

(1) 34% (2) 40%
(3) 25% 4) 30%



75.

76.

77.

oig a4 usEr, far @ oy 9Ee O &
g H R A 9 9w gE, R @
Y 3G T & Y H 7 A &)
H I Y ©

(1) 40 99

() 30 a9

(3) 50 a9

(4) 45 99

I 6 TN % fooea g, 8 TN & A

@ & SO &, a1 /e ufoee |
g

(1) 25% TN
(2) 25% &
(3) 33%4% =
(4) 33:% @4

ey 2)c5+7_Ebc;—11=2)c3+8_5 _&;[’ (_:ﬁ

x=?
(1) 1
(2) -1
(3) 2
4) 2
T% Ia9 B THYCE SFABA 264 TOHIET

T qAT AT 924 T B I A9
F TAH Has  FT STIA B ?

(1) 7:6
) 6:7
(3) 3:7
@) 7:3

Level-3/4309

[19]

74.

75.

76.

77.

[A]

After 5 years, father's age will be three
times of his son's age. 5 years ago,
father's age was 7 times of his son's age.
The present age of the father is :

(1) 40 years
(2) 30 years
(3) 50 years
(4) 45 years

If the selling price of 6 pens is equal to
the cost price of 8 pens, then profit/loss
in percentage is :

(1) 25% profit
(2) 25% loss
(3) 33%% loss
(4) 33%% profit

2x+7_3x+11_2x+8_
5 2 3

If 5, then

x=7?

1) 1

2 -1

3 2

“4) 2

The curved surface area of a cylinder is
264 m? and its volume is 924 m3, then

what is the ratio between its diameter
and height ?

(1) 7:6
) 6:7
3) 3:7
@) 7:3

P.T.O.



[A]

78.

79.

80.

81.

Thge AT A BE-E g 1 ad B
o= # 650 To T 2 ¥ F org H
676 o B SR ?

(1) 520593
() 57251
(3) 600 T
(4) 625%7
P15 o HERT AT % Th G & W 2
T & fou SUR R m, O & @ &

1% aqe of¥® Bl Ol 399 240 9
fep T B | I8 o R ' ?

(1) 5,000 %o
(2) 6,000 Bo
(3) 8,000 Bo
(4) 12,000 To
125 diex a=l [dme 60 fRdr gfer guer

Pl A § TR T G B 30 Favs |
IR H SR 2 | G H T (b o 7

(1) 375 "X
(2) 225 HieX
(3) 125 "X
(4) 250 Hiex

fore, R R 7o faRed © ¢

(1) =&t

(2) feam
(3) dergel
(4) SfeTT

Level-3/4309

[20]

78.

79.

80.

81.

What principal on compound interest
has their amount Rs. 650 in one year
and Rs. 676 in two years ?

(1) Rs. 520
(2) Rs. 572
(3) Rs. 600
(4) Rs. 625
A principal lends on simple interest for
two years. If rate of interest more than

1% the simple interest increased by
Rs. 240. Find out the principal :

(1) Rs. 5,000
(2) Rs. 6,000
(3) Rs. 8,000
(4) Rs. 12,000

At the speed of 60 km per hour, 125
meter long train crosses a bridge in 30
seconds. What is the length of bridge ?

(1) 375 meter
(2) 225 meter
(3) 125 meter
4) 250 meter

The district, in which Gujari Mahal is
situated :

(1) Hansi

(2) Hisar

(3) Panchkula
(4) Ambala



82.

83.

84.

TegEl & W0 O oAl & AR W
IEe |G & L SRR I e o
S (Falle omafy wawew) HA A
FERYT BT :

(i) oF @

GIEGIISIS|

(iii) gfo=x R gger

(iv) 3l d

el %2 g :

(1 @, (), (id), (iv)

(2) (v, (), (i), @[v)

(3) @, (i), (v), (ii1)

@) (i), (iv), (iiD), (1)

forem it eI 5 e an e B

(1) RER (2) F=N
(3) e (4) ed®

I Iq P IR H oTOifcied O W

AR #iT -

(a) I 3G TS [ 9 @l S
|

(b) ST BRACT & T AT, I &N
fer g @1 Srey A T

SR § § IN-ar/HN-8 FE g8
/R

(1) a9 (a) T &

(2) @ad (b) T B

(3) A (@) AT (b) T B

(4) (a) Td (b) I W& B

Level-3/4309

[21]

82.

83.

84.

[A]

On the basis of extent of the period as
Chief Minister, arrange the following
Chief Haryana in
descending order (longest serving first) :

(1) Bhajan Lal

(i1) Bansi Lal

(iii) Bhupinder Singh Hooda
(iv) Devi Lal

Ministers  of

Choose the correct code :

(D) @, (i), (iid), (iv)

(2) @), (), (id), @[v)

(3) @, (i), (v), (iii)

@ (), (iv), (iiD), (1)

The district, which is mainly irrigated
by Jui Canal :
(1) Hisar
(3) Bhiwani

(2) Jhajjar
(4) Rohtak

Consider the following statements about
Shanno Devi :

(a) Shanno Devi
Speaker
Assembly.

was the Deputy

of Punjab Legislative

(b) When Haryana was formed; she
was elected as the Speaker of
Haryana Legislative Assembly.

Which of the
statements is/are true !

(1) Only (a) is true

(2) Only (b) is true

(3) Neither (a) nor (b) is true
(4) Both (a) and (b) are true

above statement/

P.T.O.



[A]

85.

86.

87.

88.

89.

90.

‘G RY TARR-TT H GUEEH BN

g ?
(1) Tiget (2) g &
(4) M A

(3) B ™

e UG TEmE 9 % SR H
NI FHoEt W R FifTe ¢

(a) T FHESI-TMEEE-Iea TrasE d
f Pearr 2|

(b) 3HH FA a8 200 Fflo | A
|

SR & Q@ B9-91 HI 78 /8 -

(1) ad (a) 99 3

(2) et (b) G

B) Fdq () MRTE (b) T2
@) (a) 3R (b) A T &

AREE] Tal Marag & 9 59 B |
T el & ?

(1) e (2) |Ta
(3) HE (4) ST
i @ e 9E ®
(1) Gua (2) el
(3) I (4) <9

IOHUS AT BRI AeA-2018 #
frfafeg § @ H9-a1 gewrl e o7 ?

(1) fr (2) WiE

(3) FoMepEE  (4) fRReE™
frefifeq & @ fhe R & swEen
T 99 A © 7
(1) HE

(3) o=

(2) o
(4) Aad

[22]

85.

86.

87.

88.

89.

90.

Who was the editor of 'Khair Andesh'
Newspaper ?

(1) Chandulal (2) Murlidhar

(3) Chhotu Ram (4) Sham Lal

Consider the following statements about
Eastern Peripheral Expressway :

(a) It is Kundli-
Ghaziabad-Palwal Expressway.

also known as

(b) The total length of this expressway
is more than 200 K.M.

Which of the above statement is/are
true ?

ey
2
3)
“)

only (a) is true
only (b) is true
neither (a) nor (b) is true

both (a) and (b) are true

The Markanda river does not flow in
which of the following district ?

(1) Kurushetra
(3) Karnal

(2) Sonipat
(4) Ambala

The state tree of Haryana is :
(1) Peepal (2) Khejari
(3) Banyan (4) Neem

Which of the following was the partner
nation in Surajkund International Craft
Fair-2018 ?

(1) Egypt

(3) Kazakhstan

(2) France
(4) Kyrgyzstan

Which of the following districts has the
lowest population density ?

(1) Karnal (2) Sirsa
(3) Jhajjar (4) Mewat
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[23]

[A]

A - IV / PART - IV
TNl / GEOGRAPHY

@sr : =i god] % Gav @7 & [T @@ fEd [ g

Direction : Answer the following questions by selecting the most appropriate option.

o1.

92.

1986 ¥ T WG # J99 SgHsd

(1) 9+d
(2) a1 34
(3) H®

4) SRR

BT AR & ‘BEA TR H & T8
g7

(1) 3fsren

(2) SIeE

) 7§

4) gdq-r

Level-3/4309

91.

92.

The first Biosphere Reserve of India

established in 1986 is :

(1) Manas

(2) Nanda Devi

(3) Nokrek

(4) Nilgiri

Which is not an example of a 'Garrison

town' in India ?

(1) Ambala

(2) Jalandhar

(3) Mhow

(4) Satna

P.T.O.



[A]

93. fr=ifafed # & HH-Hl W@ T

94.

95.

% R fafy 7@F 2
(1) i S
(2) T o=

(3) B

(4) T @

HerSe A B

(1) 7 Aedd SiEs 2 |

(2) T& [T F MHS T

(3) T A oS

(4) T8 s & AR F oS 2|

FHIHT AT "1 $9 TEid HYr & 8 Wi
&1 U e @ 7 7

(1) 1:570,240
(2) 1:380,160
(3) 1:443,520

4) 1:506,880

Level-3/4309

[24]

93.

94.

95.

Which of the following is not a
mathematical method for representation

of relief ?

(1) Spot height
(2) Bench mark
(3) Hachures

(4) Form lines

What is Metadata ?

(1) Itis oceanic data.

(2) Itis survey data.

(3) Itis meterological data.

(4) It is data about data.

What is the conversion of statement
scale of "1 inch represents 8 miles" into
RF?

(1) 1:570,240

(2) 1:380,160

(3) 1:443,520

(4) 1:506,880



[25] [A]

96. f=ifafad & & HH-dl gAY Tl 96. Which of the following is mot a right
alfest &1 &l Hedd T4 78§ ¢ hand tributary of River Brahmaputra ?
(1) for (1) Tista
(2) AH (2) Manas
(3) AN (3) Kalong
4) g (4) Subanseri
97. offafa dex@n, Al Td gl & 97. Distances measured along erratic paths
TR %—ﬁ q 9t 97 F7 Fed o of coastlines, rivers and streams is done
by an instrument called :
(1) e
(1) Planimeter
(2) it '
(2) Opisometer
3 ﬂ (3) Pluviometer
(4) BEZHIR (4) Hydrometer
98. f=feifad & & F9-&1 dd SUEH & 98. Which of the following oil producing
oo § craRyd 78 ® 7 regions is not situated in Assam ?
(1) 3”3]% (1) Digboi
(2) REErR (2) Shivsagar
(3) TETH T (3) Naharkatiya
(4) sAferree (4) Aliyabet

Level-3/4309 P.T.O.



[A] [26]

99. frfeiad el IX fa=m iy - 99. Consider the following statements :
(a) g S & A aﬁ T 111 (a) The distance between two latitudes
fepT 21 is approximately 111 km.
(b) ﬁlﬂaﬂ G H AT % 180 (b) There are 180 parallels including
aTErisT @ ¥ | equator.
(c) Al IR %Eﬁ R foe 2 | (c) All meridians converge at poles.
&l I H G HIT Choose the correct answer :
(1) Fad (b) & 2| (1) Only (b) is correct.
(2) (a)d (c) Tel g (2) (a) and (c) are correct.
3) (@) d (b) e 2| (3) (a) and (b) are correct.
4) (a), ()T (c) Tl | (4) (a), (b) and (c) are correct.
100. 95° BR-ERES, Afcasd § F471 & ? 100. What is 95° Fahrenheit in Celsius ?
(1) 35° (1) 35°
(2) 95° (2) 95°
(3) 63° (3) 63°
4) 36° 4) 36°

Level-3/4309



101.

=i & @ fped, & @ & @ e
HHre T e § 7

(1) PR Yerst

(2) ®Hh

(3) SieT guId

(4) HE T

102. HF-A1 777 FH ¢ ?

(1) e are ~  Jq@ T
2) REgEg e - Fwn A
(3) WrEEl AN d — e Tl
(4) g 9 - | T

Level-3/4309

[27]

101.

102.

[A]

In which of the following two or more

than two contour lines meet at a point ?

(1) Conical hill

(2) Ridge

(3) Water fall

(4) Gentle slope

Which is the incorrect pair ?

(1) Matatila Dam

—River Betwa

(2) Shivasamudram Dam — River Krishna

(3) Bhakranangal Dam - River Sutlej

(4) Pong Dam — River Beas

P.T.O.



[A]

103. wRd & TR M’ & "ed 1,

104.

frfeiad wemi WX faem #ifke
(a) T8 MM T g e 2

(b) g Arem § zg fed § 99 aw
ferpfira &1 St 21

(c) e fEm™ B9 & FROT 39 fedl
& [T A & A D

g famed & 999 Hi ¢
(1) %ad (a)

2) (a), (b) 3T (c)

3) ()R ()

4) (a) 3 (b)

@& g & T HIT

(1) o aui ~ e TS

(2) @A BT - gy

(3) ARARX ~  UiYEH S,
T

@) =igq awi  — A e

Level-3/4309
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103. Consider

104.

the following statements

regarding 'Regur Soils' of India :
(a) They are generally deep & clayey.
(b) During dry

season these soils

develop wide cracks.

(c) They develop a reddish colour due

to iron presence.

Choose the correct option :

(1) Only (a)

(2) (a), (b) and (c)

(3) (a)and (c)

(4) (a) and (b)

Choose the correct pair :

(1) Mango Shower  — Coastal Tamil

Nadu
(2) Bardoli Chheerha — Tripura

(3) Norwesters — West Bengal,

Assam

(4) Blossom Showers — Andhra Pradesh



105. WFEY B ¢

(1) 989 R & fogall & Segd anil
il Y e g Rew 8 |

(2) @< T&T IR 1 180° M |

(3) fayad @1 & FEHNRE &9 3@
(3rter) |

(4) ¥EU W A gl ® e 9wl @b
@ o g Re & |

106. S HeE eE O R AE-dE

(@ SR oT) AT AR W T

(1) TN - HeRTeg |
(2) iy gegr o
(3) ToN H

(4) gorrg-gfaren §

Level-3/4309

[29]

105.

106.

[A]
Loxodrome is :

(1) a straight line joining two points on
a projection giving a constant

bearing.

(2) a 180° longitude drawn on a

Lambert's projection.

(3) a graticule drawn parallel to

equator.

(4) a curved line joining two points on
a projection giving a constant

bearing.

"The Neeru-Meeru (Water and You)

Programme' for constructing water

harvesting structures is launched in :
(1) Gujarat-Maharashtra

(2) Andhra Pradesh

(3) Rajasthan

(4) Punjab-Haryana

P.T.O.



[A]

107.

108.

100.

f=1 & @ $H-a1 geq "o AR & 7
(1) TIATpicTn AR
(2) AR T

(3) qa=R AR
(4) TTH HERE

frefafad & 4 fh8 ‘gar-|{r gar s
Fel ST & 7

(1) A g

(2) F ga

(3) TiRRiqen g
4) s e

TeFd I H AT B :

(SRl TgE IdEh
(1) dIE oo — oo, T
(2) HHS ~ e, e
(3) diFEE — 99T, TR
(4) disn ~  qmEE, fHEH

Level-3/4309

[30]

107.

108.

109.

Which among the following is a large

scale map ?

(1) Topographical map
(2) Wall map

(3) Cadastral map

(4) Atlas map

Which of the following is also known as

'soil-moisture drought' ?

(1) Meteorological drought
(2) Agricultural drought
(3) Ecological drought

(4) Hydrological drought

Choose the incorrect pair :

Mineral Major Producer

(1) IronOre  — Sundargarh,

Mayurbhanj

(2) Manganese — Shimoga, Chitradurg

(3) Bauxite — Belgaum,

Chikmanglur

(4) Copper — Balaghat, Singhbhum



110.

111.

112.

Slo o feamEi & S@ag i &
HIAR 'Caw' TN & Sag 9RG &
o & § o S ® 7

(1) a8 Jam
(2) qie=ml TE
(3) B GO
(4) TEE TEH

ERISHEIE

(1) HWR AT & =@ 998
(2) VRIS 99 & HeH

(3) IS &l AP 3l
@) W T& 50 N faed

G & [h9 9RAE fEE § gt
g7

(1) FE-HA
(2) g
(3) T gam

)
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110.

111.

112.

[A]

According to G. T. Trewartha's scheme
of climate classification, 'Caw' type of
climate is found in which parts of

India ?

(1) Northern Plains
(2) Western Desert
(3) Deccan Plateau

(4) Coastal Plains

'‘Bugyals' are :

(1) Nomadic groups of Kashmir
Himalayas

(2) Summer Grasslands
(3) Glacial lakes of Uttarakhand

(4) Meanders formed by river Jhelum

The local names — panna, para, palli,

nagla — refer to which type of

settlements in India ?

(1) Semi-clustered

(2) Hamleted

(3) Dispersed

(4) Clustered

P.T.O.



[A]

113. ST 2011 (PCA BREAG Se0) &
HATAR, 9Rd § JEO g THE STae
&l gfererd B

(1) 67.15% —3531%
(2) 68.58% —31.51%
(3) 68.85% —31.15%

4) 65.17% —35.11%

114. foAfes wE qdeor & ded & 9 &
T HN-A1 HIF el g 7

(1) gudg g el & 999 & q1Y
A & |

(2) 3fte wod S & A1 el e |

(3) e g3 T Adlihd = i @
q1Y TE = |

(4) erifd =% ReX @ & a g
T3 Ia-aferer faem § FRAOT &l B
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113.

114.

According to Census 2011 (PCA Final
Data) the rural and urban population

percentage in India is :

(1) 67.15% —35.31%

(2) 68.58% —31.51%

(3) 68.85% —31.15%

(4) 65.17% —35.11%

Which of the following statement
regarding, prismatic compass survey is

correct ?

(1) the magnetic needle moves with the

wooden box.

(2) sight vane does not move with the

box.

(3) the magnetic needle and graduated

circle do not move with the box.

(4) The graduated circle is fixed and
the magnetic needle always remain

in N-S direction.



115.

116.

frfafad et WX foar ik

(1) g8 JFlas SWE g HunEd
SWN & foTT AT 2 |

(b) YRYT IWE THAN T HeH
% forg ATy B |

787 [aeq &1 FF HIT

(1) (a)Td (b) I Tad £ |

(2) Bad (a) Tl 2|

(3) @ad (b) TE 2|

(4) (a)ud (b) I Gl § |

g - 1 & & - I8 gafra $ifg

AR A RU W e H W § @&
AT B I IO -

gl -1 gl - 11
(¥erd 7i7) (55rT)
(a) HeA (i)
(1arer)
(b) Td HeH (i) 3T
(c) T & (iii) BEIYY
(d) ERR dHid (iv) Jo8
% -
@ (b (© (@
() Gv) Gi) @ i)
(2 @) Gv) @@ @)
3 ®» Gy 3§ Gv)

@ (@v) (i) @) @)
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115.

116.

[A]

Consider the following statements :

(a) Sun synchronous satellites are
useful for Earth  Resource
applications.

(b) Geostationary satellites are useful

for Telecommunications and

Weather monitoring.
Choose the correct options :
(1) Both (a) and (b) are wrong.
(2) Only (a) is correct.
(3) Only (b) is correct.
(4) Both (a) and (b) are correct.

Match List — I with List — II and select
the correct answer from the codes given

below :

List -1 List — IT
(Railway Zones)  (Headquarters)
(a) Central (i) Maligaon

(Guwabhati)
(b) East Central (ii) Allahabad
(¢) North (111) Hajipur
Central
(d) North East (iv) Mumbai
Frontier
Codes :

@ () (© (@
(1 Gv) ai) @ @G
(2) @) @Gv) @ (G
3 ®» Gy @G @Gv)

@ (@v) @) @) @)

P.T.O.



[A]

117.

118.

U g @ & Hed H e
Fo W fa=m ik -

(a) 399 @ 9 UiEH & AR AT B
U AT I A H AT B B |

(b) T& 180° IMX T Tl HIcd™ih diell
@R

ggl TAL H I IO
(1) Fad (a)

(2) Fad (b)

3) (@ T (b) T

(4) T4 ()T & (b)

o 9 U H4EO § Gg AT B g
g B

(1) 86%e

(2) 68 e

(3) 369

4) 662

Level-3/4309

[34]

117.

118.

With reference to International Date Line,

consider the following statements :

(a) A person crossing it from east to

west gains a day.

(b) It is an imaginary straight line

drawn at 180° meridian.

Choose the correct answer :

(1) Only (a)

(2) Only (b)

(3) Both (a) & (b)

(4) Neither (a) nor (b)

The length of Gunter's chain, used for

chain and tape surveying, is :

(1) 86 Feet

(2) 68 Feet

(3) 36 Feet

(4) 66 Feet



119.

120.

121.

I g & fqudd f&sm § ueme Ad @l
q IRoTHEaEY Jag R

(1) s
(2) FfeH
(3) FUSHIcTH

(4) TR

qg G H A S BT S
IS4 gU AGAH B HAE 7500 W AR
T B HHE g 15 FH B 7

(1) 1:15,000
2) 1:50,000
(3) 1:25,000

(4) 1:30,000

qg % &S e § S B AR
FEA & -

(1) daeq
(2) UdET
(3) STt

(4) SAEE

Level-3/4309

[35]

119.

120.

121.

[A]

If the source of light is on opposite end
of diameter, the resultant projection will
be :

(1) Gnomonic
(2) Stereographic
(3) Orthomorphic

(4) Orthographic

Compute the scale of an aerial

photograph when the flying height of an
aircraft is 7500 m and the focal length

of the camera is 15 cm :
(1) 1:15,000
(2) 1:50,000
(3) 1:25,000

(4) 1:30,000

The transfer of heat through horizontal

movement of air is called :
(1) Convection

(2) Diffusion

(3) Albedo

(4) Advection

P.T.O.



[A]

122.

123.

TEEFNE 9@ § 98 Wa Ed 9ed
TEUE & O a9 § dg 89 e g,

FEard & ¢

(1) ToRpIeRiTE
R LIESIES]
(3) FHEOT 3@

(4) Yare

G A & Hew & ded § e
YAl W = #ife
(a) IR & G- Ty 390 6 |

(b) PR & e A B, R
I2ed & AfHTH AT |

(c) EAMe Ve & IR IR Fh
IO &5 fod 21

Fe I F FIH P
(1) %dd (a)

2) (a) AR (c)

3) (@), (b) A (c)

@) (a) 3R (b)
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122.

123.

In ocean water, the layer characterized
by rapid decrease in temperature with

increasing depth is known as :

(1) Pycnocline

(2) Thermocline

(3) Isohaline

(4) Drift

the
regarding 'Von Thunen's Model' :

Consider following statements

(a) Locational rent shows a distance —

decay relationship.

(b) Farmers are economic men, aiming

at profit maximization.

(c) There are numerous market centres
around the Isolate State.

Choose the correct answer :
(1) only (a)

() (a)and (0)

(3) (a), (b) and (¢)

(4) (a) and (b)



(371 [A]

124. HH-AT Td Rl g7 124. Which is the incorrect pair ?
(1) 9¥e URea - HIe (1) Gaseous hypothesis — Kant
(2) Ter IREAT - e g Hiced (2) Planetesimal hypothesis
— Chamberlin & Moulton
(3) e IRee - ara™ (3) Nebular hypothesis — Laplace
(4) ITHIUTS GREBHT - I6 (4) Meteor hypothesis — Buffon

125. TEM 3N @ enfe  wmiEester 125. The three principles/restrictions for
3 o fosra/miery 2 industrial ~ location developed by

Rawstron are :

(1) 9w, o T qeheiie (1) Physical, Economic and Technical

(2) Nfees, oTiiw T AT (2) Physical, Economic and Social

(3) 9w, o Td [Tt (3) Physical, Economic and Political

4) A, i @ wHg (4) Physical, Economic and Human
126. a@ﬁ'm" EIIICARECIE] C|i| KPO® : 126. The new trend in quarternary services,

KPO stands for :

(1) STcisT MBI STSTaNT (1) Knowledge Professional Outsourcing
(2) HteeT TBe HATIeYe (2) Knowledge Professional Output
3) i oeg ey (3) Knowledge Process Output

(4) oS NAE SSeaRiT (4) Knowledge Process Outsourcing

Level-3/4309 P.T.O.



[A]

127.

128.

‘i R e & e |

frfciad el W faer i

(a) SO W F fREe § Td g
4 fREe Bl 2

(b) Yo & Hd H Y W & qHIHA
AN & o Fra 2

(c) UoM =ROT H SHEe #l A= ghe
T, I WO 9 T gg W &
FRT 2 |

@&l I B =TI P
(1) (a), (b) IR (c)

2) (a) 3R ()

(3) (b) 3 (c)

(4) &9 (c)

G&7 foheq &1 T HIfT ¢

(1) E THEERel W §qq ol
A T B B

(2) E FHEERET W Haq ol
3ty & @ 2|

(3) 9Bt I el § fanfora R o B

4) T H AR gt H AR #7d < |
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127.

128.

Consider the following statements
regarding 'Demographic  Transition
Theory' :

(a) Decline in mortality comes before
decline in fertility.

(b) Fertility eventually declines to
match mortality.

(c) The slow growth of population in
first stage is a result of high fertility
and high mortality.

Choose the correct answer :

(1) (a), (b) and (¢)

(2) (a)and (c)

(3) (b)and (¢)

(4) only (¢)

Choose the correct option :

)

The longest span on the geological

scale is epoch.

2)

The longest span on the geological

scale is era.

Periods are divided into eras.

3)

(4) Epochs are further divided into

periods.



129.

130.

131.

T MG [ gEshis Rae 2018
% AR, 189 39 F & ARG & (&
g

(1) 129 (2) 130
(3) 131 4) 132
g Tex e @

(1) gUiREy gt — i sfie
(2) FRER &t - g o
(3) g i -0

4) ghfEE i — R gl

T GERCT T ©

(a) IAU STHI®N H STeqilch de, N
TFEY 9 el 9 db

(b) TUGT e

(c) aferor g&l wimEn

Fel IO H TIT PO
(1) ®ad (b)

2) (@ (c)

(3) (a), (b) T (c)

4) (T (b)
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129.

130.

131.

[A]

As per the latest Human Development
Index Report 2018, of 189

countries, India has been ranked at :

(2) 130

out

(1) 129

(3) 131 4) 132

Soo canal connects :

(1) Lake Superior — Lake Michigan

(2) Lake Superior — Lake Huron

(3) Lake Huron — Lake Erie

(4) Lake Superior — Lake Ontario

'Pastoral Nomadism' is associated with :

(a) Atlantic shores of North Africa,

Arabian Peninsula to Central

China
(b) Tundra Region

(c) South East Asia
Choose the correct answer :
(1) only (b)

(2) (a)and (c)

(3) (a), (b)and (c)

(4) (a)and (b)

P.T.O.



[A]

132.

133.

134.

ARG H A A & R g anl @
Frfor &g WRRefol gieser & HiF-A1
TEENE A % IeE eyl ¢ ?

(1) Heréd™ wFae
(2) HETEuE 39N
(3) HeraldE e
(4) HETEdE Her

DIF-A1 AT H S °

(1) =S sexme - Afwd

(2) JSe Ui (arEd dEe) — i
3) Q?_atﬁ? FEME — HIUTT

(4) WE A B — g

T9E SiE & SEN I LA TG o R
e faierd fmam S @

(1) W gl T Tt Sor J
(2) A WG ALqiad o1 |
(3) Y T AR Hof |
(4) e w WARRTT By F
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132.

133.

134.

Which of the following ocean bottom
relief feature is important from the
ecological point of view contributing in

the formation of ideal places for

mangrove forests in India ?
(1) Continental shelf

(2) Continental rise

(3) Continental slope

(4) Continental plain

Which is the incorrect pair ?

(1) Inland Port — Memphis

(2) Out Port — Piracus

(3) Entrepot Port — Copenhagen

(4) Port on call — Duisburg

Based on principal organisms the

calcareous oozes are further divided
nto :
(1) Red clay and Globigerina ooze

(2) Diatom and Radiolarian ooze

(3) Pteropod and Globigerina ooze

(4) Pteropod and Radiolarian ooze



135. |G YA HI AT THS UG G R

136.

137.

T deY » Gk AN & w9 H
e i feRar ?

(1) o e

(2) Tho Y&

(3) 3o dHlo A™A
(4) ISt S a1 =

SIF-A1 AT JH B °
(IO 1 STarg o)
(1) Af - S[HieddR g

(2) Bwh — STE-SUIWTH{eaeNg Uy
(3) Df - <iaE HedidE

4) Aw — ITTEHCTT oTE AR I

freifeia & § S9-91 WM ey
3 9 W g 7@ 2 7

(1) R
(2) T
(3) Bferherd
(4) iz
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135.

136.

137.

[A]

Who defined human geography as 'a
synthetic study of relationships between

human societies and earth's surface' ?
(1) C.Ritter

(2) F. Ratzel

(3) E.C. Semple

(4) Vidal de La Blache

Which is the incorrect pair ?

(Koeppen Climatic Classifications)

(1) Af - Tropical wet

(2) Bwh - Sub-tropical steppe

(3) Df - Cold humid continental

(4) Aw —Tropical wet and dry

Which of the following station is not on

Canadian-Pacific Railway Route ?
(1) Vancouver

(2) Alberta

(3) Halifax

(4) Montreal

P.T.O.



[A]

138. < FuMl W fqa Fife :

139.

(a) WIT FHAX M I ARG AHR
% @S 2|

(b) @ FAAHUSH & HUX Afel =il
2l

(c) we & HEE 5200 fFHI & #eg
2Rl 2 |

q&l I G

(1) e (a)

(2) (a) T (b)

(3) (a), (b) AT (c)

(4) %9 (c)

e S0 & A (SfEw Q) @

HheO T 3R U ThT & R
A I %l AR A 7

(1) &ffar sdex
(2) S g
(3) UwEe femi~Tas

(4) f9sT St @ =T
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138. Consider the following statements :

139.

(a) Plates are irregular-shaped slabs of

solid rocks.

(b) Plates move horizontally over

asthenosphere.

(c) Thickness of plates varies between

5-200 kms.
Choose the correct answer :
(1) Only (a)
(2) (a)and (b)
(3) (a), (b) and (¢)

(4) Only (c)

Who considered the principle of
terrestrial unity as the corner stone of
human geography and gave the concept

of 'Genre-de-Vie' (life style) ?

(1) Otto Schluter

(2) Jean Brunhes

(3) Albert Demangeon

(4) Vidal de La Blache



140.

141.

142.

¥ 2011 & AR, FfEd HE-A
391 fagg & 10 Taifas e a9
g7 27

(1) it
(2) e
(3) AT
(4) Eeirar

P e, ‘Mg gead @ S0 § 7

(1) dlo 3Mo HAET

(2) %o o 7

(3) Tho Yok

4) 2o EfdTeq

gal-l & GE-I A gAY e Ry

T ge @ FEEd 4 #@ W H g

FIfTT -

g -1 @ -1

(a) Thard () ST TEMFR

(b) BHA (i) afeaH
e fera

(c) <IRHRT (iii) fe= HeEm

(d) faeli-fot (iv) 9fs=adr  gera
g e de
LSIEY

%< -

@ (b)) (© (@

(D) i) @ av) ()
@) ®» G @) (@Gv)
(3) (v) (i) @) @)
@ @) (@) @O @Gv)
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140.

141.

142.

[A]

Which of the following country does
not lie in the top 10 most populated
countries of the world (as per year 2011) ?

(1) Brazil

(2) Indonesia

(3) Germany

(4) Nigeria

‘Man is a product of the earth's surface'
was stated by :

(1) C.O. Sauer

(2) E.C. Semple

(3) F. Ratzel

(4) E. Huntington

Match List — I with List — II and select
the correct answer using the codes
given below :

List -1 List —1I

(a) Cyclone (i) Atlantic
Ocean

(b) Hurricane (i1) Western

Australia

(c) Typhoon (ii1) Indian Ocean

(d) Willy-Willy  (iv) Western

Pacific and
South China
Sea
Code :
@ (b (© (@
(D) @) @@ @Gv) (G
2 @® Gy @) @v)
(3) Gv) @) @) @
@ Gy @Gn @ 3Gv)
P.T.O.
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143.

144.

145.

TUH % R oTENfie R B S
3¢Tze’ el Al 8 7

(1) TR — Fid
(2) TR — Ml
(3) AFmE

4) FL

gﬂﬁmﬁﬁﬁﬂ-wwﬁaa@ﬁaﬁ
?

(1) frerEe
(2) FHeREe
3) %
(4) st

s H 9T T @Ol h IR TP b
AN LN HH H SR

(1) HfETm  FAEE, WeREH  dcoe,
ifaem Tche

(2) dAifegw FREe, HHIREH FNEE,
FfaEy gche

(3) TR FREe, Afedw FNES,
BT The

(4) QTN FANES, D  FANES,
FfEy dche
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143.

144.

145.

Which of the following industrial region

of Japan is known as 'Detriot of Japan' ?
(1) Osaka — Kobe

(2) Tokyo — Yokahama

(3) Nagoya

(4) Kyushu

Which of the following is not an
igneous rock ?

(1) Geyserite

(2) Pegmatite

(3) Tuff

(4) Gabbro

Arrange the salts found in oceans in
descending order with respect to their

abundance :

(1) Sodium chloride, Potassium

sulphate, Magnesium Sulphate

(2) Sodium  chloride, = Magnesium

chloride, Magnesium sulphate

(3) Potassium chloride, Sodium

chloride, Calcium sulphate,

(4) Sodium chloride, Calcium chloride,

Magnesium sulphate



[45] [A]

146. H9-A1 7T Rl g7 146. Which is the incorrect pair ?
WFIRT i 3 Shifting Country
Cultivation
(1) 3f=m - TdE
(1) Caingin —  Philippines
(2) T -  ®MER
(2) Taungya —  Myanmar
(3) = —  ENI
(3) Masole —  Brazil
(4) = — ficie
(4) Chena —  Sri Lanka
147. U€ & GARYH HHOT T H bmd fqu 147. The central theme of Pratt's concept of
- Isostasy was :
(1) 99 Iq&% B g qur I ﬁ?lg (1) Uniform density with varying
¥ gitad e & thickness
(2) WE & I (2) Law of floatation
(3) 9HH ‘Ié(l'sf g9 § ST (3) Uniform depth with varying
density
(4) e foymfoT (4) Root formation
148. SifaeH 78 $H-4 & 7 148. Which are the Jovian planets ?
() 94, sk, E?Zﬁ, A (1) Mercury, Venus, Earth, Mars
(2) g, W, geeld, O (2) Earth, Mars, Jupiter, Saturn
3) ﬂ%@ﬁ, afs, oT8ul, g&u (3) Jupiter, Saturn, Uranus, Neptune
4) SIsh, Eﬁzﬁ, M, ﬂ%@lﬁ (4) Venus, Earth, Mars, Jupiter
149. Yo H fasiicrar GspAer Higw’  fear 149. 'The Mobility Transition Model' for
o migration was given by :
(1) WS ga (2) Sl E (1) Ravenstein  (2) Zelinsky
(3) @ &\ (4) AT B (3) Lee (4) Wolpert

Level-3/4309 P.T.O.
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150. el - I 0 e - 11 § Al &< A 150. Match List — I with List — IT and select
U T Ze # wewdl 4@ @& IW H the correct answer using the codes
T FI given below

gl -1 Tl - 11 List -1 List —II
(a) M ORI CISE (a) Llanos (i) New Zealand
(b) Fear (i) & (b) Canterbury  (ii) Hungary
(c) g& GHERF I (c) Pustaz (iii) Venezuela
(d) desd (iv) &feroT SThleht (d) Velds (iv) South Africa
Zc - Code :

(@ (b) (© (@ (@ () (© (@
(D @) @) @ @) (I G G @@ @v)
(2) @) @) @Gv) @) (2) @) @) @Gv) @
3 v @O G (3ib) @) Gv) @@ @) (ii)
@ @) @) (@G (@v) @ @) @G (> (@v)

Level-3/4309



OR & @
Ife T A SIET Wl Bl MR T & Al 3BT SR Tod
HHET ST |

6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black ball point pen as

shown below :
O @ ® @

The answer will be treated wrong, if it is marked, as given below :

©OR &>

If you fill more than one circle it will be treated as a wrong
answer.

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. % B W—gﬁﬂrbl # 39 o & forg & E @relt SFE W & &Y | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bad OMR TR U6 R 81 3ifdhd &Y | 30 IR &IHYdd 2Afhd T | IR g =g 29d Joidh (ABE Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

LTS T & forg Ry g aR et § 9 3fa fadwer & fw OMR STR 956 W &ad Ud gd @I & T Re Pl ard

wrge 9 9 T Th IR SR 3ifd BT B 971G I dGoll el off bl 8 | (Out of the four alternatives for each question,
only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

el gHARad o 6 59 SR 45d B Hiel 9 WY Td I R BIg 3 M9 7 M | 3ngedi =1 gl SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT T IR TS HT SAFYED JANT By, Fifd B aRRefT # (ge—gRaer wd SR w96 & wAie 3 e
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

THA—gRTHT /IR TFF H Y Y HHG BT el el WP A WINER dic H A | (The candidates should write the

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

mﬁﬁﬁmm/¢aﬁmwaﬁ?ww$aﬁﬁmﬁﬂﬂwaﬁm—w gfad a1 gRfIRad HITST Bl
i, ISR, Hi9sd BIF, Soldci~ih sqmwmﬁﬂﬂmwaﬁﬂmﬁaﬁéﬁnﬁmwmﬁwﬁﬁél
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TfId gRT 8 oM W YIS gl 3T gawr dre ([ o) 3R uga™ ux Wi | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT Tded B A SH‘T% P 77 PIE el JmuFT I |7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

HRIRT TAdETH BT AU IR UAB QU 1 v AR A€ R SEART BRAER [Py 97 angefi uden gfa 7€ v | Ay
el apell 1 A IR EWER A1 W BWER el by A1 g AMI SN {6 S99 IR U3d 8] dlerl & AR I8
JTfad | &1 AT AT STYT | OMR SR U3d § FuiRa o w | anafdial gmr 9 w19 & o &1 foeme
wrrmmélw@m%wﬁwwmmmwmﬁswﬁﬁwﬁﬁwﬁmmﬁwﬁaﬁ
qEAT 7A@ E|§T‘f AITTH §8d ®H | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagid / gxcarferd URderd &1 SUANT afSid & | (Use of Electronic/Manual Calculator is prohibited.)
et Bt # MmeRvr & forg, apwneff fyarforast # & 13 ufhan / feen—fder g 98 & it el vd fftgst & Ry s < |
31‘3’%1?[ R e IOl e o ) B Re T IR IO ot R ol 1 o | AR 8FTT| (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U DT 3R SR Y=Ib BT I 9T AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W s
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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